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OHIRM+X N4 AL 250,000
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35,000
OgsSH+X HEs A 100,000
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6,000
14,000

Mo A

Mo
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02
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H
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01 A& dl 66,000 0 66,000
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Ok2E+E8 Hg 7 7¢ 6,000
Oz otM2tg & tMEEF 2 5,000
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—HEH EUTY (=Y, 2et)
250,000 *2CH »32] 1,500
- 282 FU(EU, AEE EX)
110,000 »4 = 440
ozg=x¢ 70,0003 x4 X x4 3 1,120
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O =l 16,071
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OZFS0I2 U LA Z A} 10,000
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EX: A4 ns
HM: c2HH
e S22 X 22 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
C2 NEY XA 7,507 7,260 247
101 Q124 H] 7,507 7,260 247
04 JI2ZtHIZ22NEE S 7,507 7,260 247
OWEa XA Q4| 7,507
(@il 44 6402 x6H *21H 5,625
O2tAH] 7,000 *6H *21 0 A~ *1L 882
o= (MM, D8) 1,000
EZ ZX& &y 70,000 70,000 0
401 Al HI L 204 HI 70,000 70,000 0
1 A& H| 70,000 70,000 0
O EXE AU 10,000,000 *7JH A 70,000
CZ2HY I XA 30,000 30,000 0
AEHI L 20| 30,000 30,000 0
03 Al&E 201 Y| 30,000 30,000 0
O =zAHl I dx= 30,000
MATZ2-X1009& & HEQL=2 HAAIY 300,000 330,000 A 30,000
401 AlEHIZL 2 0HY| 300,000 330,000 A 30,000
01 Al&H| 300,000 330,000 A 30,000
ONHEEZ-X10095 6 =AU Z INEAY 300,000
T2 (MAE)H =AY 100,000 50,000 50,000
401 Al HI L £ 0HHI 50,000 0 50,000
01 Al& b 50,000 0 50,000
O E2YH (2 sHEEZ) MZ&Y 50,000
403 XX SHS K201 & 50,000 50,000 0
02 2| 2SO0l CHSHCH & AF S HI 50,000 50,000 0
OXNEE, 2% AHXE Hx=&Y 50,000
WX 2 ALY 310,000 321,445 N 11,445
401 AlEHIZL 2 0HY| 310,000 321,445 N 11,445
01 Al&EH| 310,000 321,445 AN 11,445
OZ2FAFRI 1 1) &F & 4=Z2 AH(L=80m) 60,000
OUHEWN2 A DNEEBLZ A 200,000
o2 nNEIHUKMKNC A 50,000
ALY 1,985,000 2,533,500 A\ 548,500
2 AFY 1,385,000 1,110,000 275,000
401 AlEHIZL £ 0HY| 1,385,000 1,110,000 275,000
01 Al&H| 1,380,000 1,100,000 280,000
O=2E= ALY 1,380,000
O (EXN0NS)E2E L EH 2 A 500,000
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g) 14 80,000
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OAIE =Y 5,000
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AN HAEnsSH
HM: WwsSHE A
DEVY 29 SRED)
SAH-EB .S (3H) - HEAY - BE2 il HDS2
= 3,300
OHAIRZ IEZNM =2 K& 2,400
T 1,200
2 1,200
OZUHA nNEIe =202 XA 28,600
& 14,300
= 14,300
WEOHMAILAE 22 454,786 457,301 N2,515
HASAMIIA 2l 244,786 250,251 15,465
101 @121 1,786 1,251 535
04 JI2ZtH2Z2XNHEE 1,786 1,251 535
OHDIY ¥ 2H0ICHE A 22| o8
44,6403 x40 1,786
201 Bt A | 3,000 3,000 0
01 AFR 22l bl 3,000 3,000 0
OMZ(HI3)4l 1,000, 000& *3JH A 3,000
401 A& HI 2 2 bl 240,000 246,000 6,000
01 A& HI 240,000 246,000 A 6,000
OHASAHUIIA &2 1,000, 000& #2000 A~ 20,000
OHASAMHDIA A7 &X
9,000, 000& *20JH 2~ 180,000
Os LS AIAE HH| 40,000
OHOlEY HoANE E3H| 20,000
OHDIE XNEa5x ¥ &M B4HY| 20,000
OHMAIE 2 22| 210,000 207,050 2,950
1 A& 8l 20| 210,000 207,050 2,950
01 A& HI 210,000 207,050 2,950
ONEANSI WH(ES) 116,000
OusAzI WA 30,000, 000& *1JH 2~ 30,000
OLEDE & DI Al 2,000,000& *10JH &~ 20,000
OZE8s WA 10,000, 000& *2J4 A~ 20,000
OnEdNsI| A 46,000
— 2SS WA 230, 000& *20H 4,600
— XS WA (3) 350, 000& =304 10,500
— XS A (44) 440,000 304 13,200
—dE2HAHI W 340, 000& *5J4 1,700
— XS A dF2LA 22,0003 *450H4 9,900
- 38 B 400,000& * 1094 & 4,000
—&Z) B 210,000& =100 A 2,100
QUSUHEAIEE FHl L =M 94,000
OFEXUN=XFE XA EHI| 30,000
OusSF=oEXT &EH| 150, 000-& *60 4 9,000
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EX: A4 ns
MM NESHH WA
CHelr DEAMAME B (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OQusFoEXT AL 300, 000& *50H 15,000
OFAECM A =X2X EA 20,000
OB ANE o ZSAMHMECH HY|
1,000,000 x200H A 20,000
HASd 29 A3 2,267,080 2,078,087 188,993
& 477,845
= 1,789,235
HANLHdE=ABNZXE 668,872 579,001 89,871
== 178,741
= 490,131
307 2Iz2t0| & 633,264 547,265 85,999
== 178,741
= 454 523
09 2LHAHEXZ2 633,264 547,265 85,999
OBXLN =ABAS 633,264
=} 178,741
= 454 523
308 XAHXISHHMSO0l& 35,608 31,736 3,872
07 AIXISHHZ2ES 2 35,608 31,736 3,872
OXXISHM2t SSZ2(AEAl) 35,608
24 H X 1,000,000 1,000,000 0
307 212t0| ™ 1,000,000 1,000,000 0
09 2L AHEBEXZ2 1,000,000 1,000,000 0
SIEXZ2 940,000
OHl =N =ABAZ 60,000
SsHEHA WEXEZ 598,208 499,086 99,122
& 299,104
o 299,104
307 QI2t0| ™ 598,208 499,086 99,122
& 299,104
o 299,104
09 2LHHEXZ 598,208 499,086 99,122
OsHEHA MEANIAZ 598,208
o= 299,104
= 299,104
HAE A AH| 80,706 80,706 0]
J2ZH (A& wWED) 80,706 80,706 0
HAE =X A 4,200 4,200 0
203 €2 F=&d| 4,200 4,200 0
04 EANSIELRF=XH| 4,200 4,200 0
OFNMSY YRFA&H| 350,000 x12& 4,200
QB AY| 25,626 25,626 0
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